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00000000 D =24k7T 000000000000 000yOODOODDOOOOOOOODOOO
D=2vkpgT 0000 0000000000000~ =0.120460000000000000000000
O0~y=012030000000C0O00O0OOO

gobooboooobobooooboobboobodbooobDboobo0yubbooboo o
00o00000ooo0o0o0oU0U00ooooOoU000o0oooooo0U0ooooOooOOoUo0 poooooooQ
goobooboobooobooboooobooboobbooboobboboboobbobbooboo
gbooooooobooboboboooooooogo
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5 0DoO0o0Od

cobooOooooOoocoOoboocOoboboocOoOoboooooooa

51 O00O0OODOODOOODODOOD

oooooo FOOOOOODOOOCOOOOOO0OO0OOOOOOOOCOOCOOOOOO0O0O0O0 FOODOO

O(Vyoooooo 2rooooooo

0.18 : . .

<V>vs F ° °
0.1190 <V> °®
0.15 o® i

012 e ]

w 0.09 ]

0.06 ]

0.03 ]

O 1 1 1 1 1 1
0 03 06 09 12 15 18 21

<V>

027 00 FOOOOO0 (V)OM =100,m=1,dt=001,k=5L=1,y=1T=10,ks =10 <

F < 0.18, sample O 10000000, 7 = 10000000 (V)0 0< (V) <0.600000000000000

0y=e00000000000000000000000 FOOOOOOOOOFO(V)OOOOO
0F=~(V)»00O0)0OOODOOODFOOOOOOOOO0O0O0000000000000y0000
000000 (V) =y+7V?+~Vi+... 000000000000 FOOOOOOOOO VOO
000000000000 %V2+~Vi4... 000000000000 F={((V)V)0OOOOOO

ooo
00 FOOOOODODOODOoOOoOO FoOooOoOooo (‘7>DDDDDDDDDDDDDDDDDDDDDDD
gobooooooooobobobobooooooooooDoyOoooDoobobobobboboo
goboo~yO0onono YV O00O00D000000000000000000

Y(V) =0+ MV + 72V +~3V3 .. (5.1)

0000000000000 000(V)ODODO0O0OD (00DDO0O0)0D0yV)OODODODOODOODODOOOO
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DooO4(V)=+(00)00000(V)000000000000000000000000000000
0000000 0009(V)=9%+mV +%V2+4V3...000000000000000000

000000000000 DOoOoOoOooO D(V)oooooo

D(V) = Do+ DV 4+ DyV?+ DsV3 ... (5.2)

oo0oO0oO0oOoOoOoOO0O0OO0O0O0OODO0O0OD0O0ODOCOOOOOOO0O0O0OOO DOODOD 24T 0O0OOOOO
00000000000o0O0000 boooOOO0~yOOOOOOOOOOODOODOOOOyO vVooo
0000DOVOOOOOOO00O0O00000000
cobobobooobooobooooooooooooo

MV = —~x(V)V +F+/D(V)-£(t) D (5.3)
YV) =90 +nV + 7V + 73V (5.4)
D(V) = Do+ D,V + DyV?+ DsV?3. .. (5.5)

00000000000000 (5.3)00000000000000000000~(V)0 D(V)0O0OO0OO
00000000000000 VOOOOOOOO0O0000000000049,791,%2,---,D0, D1,Da,-++ O
000000000000
0000000000000000000000000000000000000000

52 ~(V)O0OO00O

0000 (V) O
YV) =90 +nV +7V2+73V3+.-. O (5.6)
0000000 VOOOOOOOO0O00000000 Vooooooo Yo,V1,7Y2,--- 00O O0404QgoO0
ooooooooo
’y(V)DDDDDDDDDDDDDDDDDDDDDDDDDD
4000000000000000000000000000000000000000O0OO0OOOOOooo
I:II:II:IDDDDDDDDDDDDI:II:II:IDDDDDDDDDDDDDDDDD(DDDDDDDDDDDDD
DDDDDDDDDDDD)DDDDDDDDDDDDDDDD FOOOOOOOOODO ’y(f/)VDDDDD

gobooobooooooooobboOoooooa

F=({(V)V)DO (5.7)

0000000000 (5.3)0000000000 ()0000000000000000
000 (5.7)000 (5.6)0000000

F= (V) + mV?) + 12V + (V) + - (5.8)
00000, v1,7,--- 00000000000

F=q9V) + 71 (V) +%(V3) +4(VH O +- - (5.9)
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Oooo(V)(V)H(V3)(V4 ... 0000000000000000000000000000000000
0000000000 ,7,92,--- 000000000
00000000000000000000000000000000000000000000000000

00 FOOOODOOOOOOOOOOOOOOO VOOODOOOO00000000000000000
00000

F=7(V) + 1 (V?) +72(V?) + ya(V*) - (5.10)
—F = —’)/0<‘7> + ’}/1<‘~/2> — ’}/2<‘~/3> + ’)/4<‘74> cee (5.11)

00000 (8.20)00 (823) 000000
0= 271 (V2) 4+ 295(V4) + 295(VS) ... (5.12)
ODoooo(V?),(Vv4,(V8) ... 000000000000000 (5.12) 0000000000000
V1,73, Y5 - =0 (5.13)
000000000000, 000000000000
F=(V) +%(V?) + (V%) + - (5.14)
0000
O00(VS 00000000000 0000000000000000000000000000000
000000000000000000000
F=(V) +7%(V?) (5.15)

00000000F,(V),(V3)0300000000000000000000000030000000
000000000000000000000000000 FOOO (V),(V3O00F =(V)+72(V3)
0000000 4,7 00000020000000000000000000F,(V),(V3) 0000000
OO0D00FO00 (V),(V3) 000000000 40,7000 (5.15)00000000000000000
280000000
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F=0.1210<V> -0.0067%4<V3>
<V>vs <V

>VSsF —©—

028 F(V),(V)OOOOF =~(V)+%(V)000000M =100,m =1,dt =0.01,k=5,L =
1,7 =1,T = 10,kp = 1,7 = 1000,0 0 0 0 0 100000000 F = vo(V) + (V) 00000000
7,7 002000000000000000000000 =0.1210,72 = —0006744. 00 0 O

00000«(V)OOO0O0D0D0O00O00D000D00000000DO0O0O0O00O0OO0

53 0DOODOOOO

goboobooboobooboboooboobbooboobbooobo
goooooooboooboboboboboboboboboboboboboybbobboObDODoDOoO
ggbboooboobbobobooboboobboobooboboobooboboo

MV = —y(V)V +F +1/D(V) - &(s) (5.16)

gogboobooobooboobbooboon

MdV = —(V)dX + Fds + \/D(V) - dB,0 O (5.17)
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0000000000000000000O0000DO0000DO0U0DO0OD0O0ODO0OD0OODODO R(s)O

dB,
ds
dv _dX

R(s) :=/D(V) -

0000000000000 00000000000000OD D(V)OODODODODDOOOO
0 (5.17) 00000000 200000000000

MdV 4+ ~(V)dX — Fds = D(V) - dB, (5.19)
(MdV + ~(V)dX — Fds)?> = D(V) - dB0 (5.20)
(MdV +~(V)dX — Fds)*) = (D(V) -dB?) O (5.21)

D(V)D dB, 00000000 (D(V)-dB?) =(D(V){dB?)00000000

((MdV +~(V)dX — Fds)*) = (D(V)){dB%) O (5.22)
(MdV +~(V)dX — Fds)?) = (D(V))ds O (5.23)
(MdV + ’y(X;)SdX — Fds)?) _ (D) O (5.24)

00000 (5.23) 000(dB2) =ds00000000
00000000000000+(V)00000000000000000000000000000000
000,000000000000000(D(V))000000000

0oo00ooooOoooo (D(V)yooooooobOoOODOOODODO

D(V) = Do+ D,V + DoV? + D3V? + .. (5.25)
0000 VOOOOOO000000000000000000000 ()0000

(D(V)) = Dy + D1(V) 4+ Do(V?) + D3(V3) + - .. (5.26)

0000 (D(V)000000000000000000000000000000(V),(V?),(V3),..-00
00000000000000000000 Dy,Dy,Dy,--- 0000000

0000~(V)0OO0O0OO0OOO0O0DO0OD0OO0OD0OOOOUOOoOoOooOoooo
ooov4iooooooooo W(V)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

(D(V)) = Do + Di(V) + D2(V?) + D3(V?) (5.27)

000 Dy,Dy,D,,Ds 00000V 000000000 D;,D;s0000000000
(VO (V30O vVOoOoOoOoOoOoO0oO(v?)00O00O0000000000 FOOOOOOOOOOO0O0O0O0

O0 FOOODOOODODODODODODODODOODO0OODO00oO0oooooooooo <1~/>DDDDDDDDDD

00000000 FOOOOODODOOO0O0O00000000000000000000000 (V)00
000000(V)DOOooO((V3) o (V) ooooooo(D(V)00o0000000oooooonon

Do, D1,D,,---0000000(D(V))0000000000000000000000000(D(V))00
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0000000000000000000000000V 0000000000000 0000000000

DlaD37D5a"':O (528)
OooooD(V)ODDODODOOOOO0000000
D(V) = Do+ DyV24+D,V*. .. (5.29)

gogoboogoboobogoobo W(V)DDDDDDDVQDDDDDDD D, 000000D0OCO00OOOODooOg
oo

0000 Dy, D, 0000000000000000000000000000000000000000
0000000000000000000000000000000000000 700000000000
oo
000000000000000000200000000000000-00000000000000
00000000000000000
0)5.18)000 R(s)0000D00000 (524)000000(00000000000 (R(s))=00000
0000)M =100,7=10000000000 FOOOODOO F=0.170000 (5.18)000 R(s)00
00000000000000-000000290000000
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1.9

1.8

1.7

<D(V)>

1.6
1.5

1.4

<D(V)>vs tau (F=0.17) —e—
10 100 1000 10000
tau

1.3

029 F=0.170000 (5.24) 000000000 R(s)000000 (D(V))000000000
00 70000M = 100,m = 1,dt = 001,k = 5,L = 1,4 = 1,T = 10,kg = 1,000 0O
0 10000000, F = 0.1700000 v 00~ = 0.1210,72 = —0.006744 000 (V) = 7V + V> O

0000 (5.24) 00 (D(V))00000-0000500000000000000 (D(V))000000
00000D0D00D0000000000D000000000000 70000500<700000000
000000000000 R(s) 000000000000

029000F=01700000500<700(D(V)yODOOODOODDOO7r>50000000000
000000000000 0000000 R(s)D0D0OO0DOUOOUOOODOOODOODOOOUOODODOOD
oooooo r=1000000000000000000

0000000000000 00000 r000000DOO0OOODOO D(V)ODO Dy,D,0O0O0O

Dooo ) )
(D(V))) = Do + D2(V?) (5.30)

000000000 (5.30)0000000000000 (D(V))000 (V2O plet000000 Do, 00
D,00000000000000(D(V))000 (V2000 plot000000 30000000
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' ' <VZ5vs<D(V)> @
-0.16821<V2> + 2.4433
2.4
o2 |
A
=
[m)]
\Y
2 L
18 |
0 1 2 3 4

030 0O (5.24) 000000 (DV)0O(WVHOOOOM = 100,m = 1,dt = 0.01,k = 5,1 =
1,7 = 1,T = 10,kg = 1,7 = 1000,0 0 0 00 10000000, F = 0.0 ~ 018 0000 v 0 7 =
0.1210,72 = —0.006744 00 0 0~(V) =%V + V300000 (5.24) 00 (D(V)) 0000000
0O0(V3») D000 10000000000000000000000000000000O000000
Do =2.4433,D, = —0.16820000 (V) 0000000000 FOOOOOODOOOOOOOOOO
000000000FO0O0000000300000000000000000000000000000
O0O0FOO0O0OO0O0O00D (VY 0000000000000000000000000000

03000000000000000000000000000000D,,D,000000000F000O
00000 300000000000000000000000000000000FO00000000 (VY)
0000000000000000000000000000
000000000 9,72, D0, D, 00 200000000

Yo Y2 Dy D,
0.1210 | -0.006744 | 2.4433 | -0.1682

D2 00VPOOoOODOO V),D(V)ODOOODOM =100,m = 1,dt = 001,k =5,L = 1,4 =
1,T = 10,kg = 1,7 = 1000, sample O 10000000, F = 0.0 ~ 0.18000000 (V),(V?),(V?), 00

O0F(D(V))DOOD0OOD000000000000

000000000000000000+(V)00000000000000000000000000
0000 (D(V))0D000000000000000000000 (V),(V3),(V3)...000000000

Dy, Dy, D,--- 00000000O0OC0COODOOO
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54 00000~(V),D(V)OOO

0000000000D000000000+~(V),D(V)0000000 VO 2000000000000
00000000000V O040000000000000

’Y(V) :704-’72‘72 +’74‘~/4+’76‘76 + - (5.31)
D(V) = Do+ DoV? + DyV* + DgVC + - - (5.32)

00 VO4000000 4,7, ,Ds,D,--- 00200000000000000000000000
0o

V40O0O0000000000030000000
0000VSO0O000000000000 40000000

Y0 Y2 V4
0.1236 | -0.009407 | 0.0004505

Dy Doy Dy
2.444 -0.1785 0.008708

03 00 V*0ooO0O00 4(V),D(V)ODOOOM =100,m = 1,dt = 001,k =5,L = 1,7 =
1,7 = 10,kp = 1,7 = 1000, sarnple O 10000000, F = 0.0 ~ 0.18 00000 (V),(V?),(V3), (V%)

O000F(D(V))0000000000000000000

70 72 V4 Y6
0.1243 | -0.01078 | 0.001003 | -0.00005438

Dy Dy Dy Dy
2.446 -0.1876 0.01422 -0.0006998

04 00 VSOOOODO AV),D(V)OODOOM = 100,m = 1,dt = 0.0,k = 5L =
1,v = 1,T = 10,kg = 1,7 = 1000, sample O 10000000,F = 0.0 ~ 0.18 00000
V), (VH (V3 (VH (VO (VO DODOF(D(V))D00D0000000000000000

b5 OOOOOO

00000000000000000 4(V),D(V)0000000000000000000000000
0 D=27kpTOO000 DOO0 000000000 7T=5-20000000000
000000 Tppr O 3 N
- 1 Do+ DyVZ 4 DyVA - -
Trpr(V) == 2 = ”
2 Yo +7V2+ V4.

(5.33)

000000000 FOOODOOOODO FODODOODOOOODOOODO <‘7>DDD (5.33) 000 vooo
O0Trppr 0000 plotO000OOCO 31000000
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10.04

10.02

10

9.98

9.96

TepT

9.94

9.92

9.9

9.88 1 1 1 1 1
0 0.03 0.06 0.09 0.12 0.15 0.18

F

031 O (5.33)000000 Trpr0Trpr 000000000000000000 = 0.1211,72
—0.006744, Dy = 2.431,Dy = —0.1427,M = 100,m = 1,dt = 0.01,k = 5,L = 1,7 = 1,T =
10,kp = 1,7 = 1000, sample O 10000000, F = 0.0 ~ 0.180

031000000000 T=100000000000000000000000Trpr 0000000

0000000000000 0000000000D000O0DUOoOoOA(V),D(V)OOooooooo
oooboooooooooon
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6 DO0DOoooooood

cooboooooboocoobooooOoooOoOooOoboOoooboOo0ooOoOOoOoOoObCO00ObOOoOoOobOOOOoOoDnn
goboobooboooooboooooobooooobooOooboOooobooooooooooOooooOoDoOboOooboboOooon
gmooboooooboooooboobooboooboooobooooooooooobobooboooooOon
gobooooboooobooooooooooOooOoobOoOoOoobooOooboOoOooOoOOoOoOoOOoOooDbboOooon
goboooooooooooooboomooooooooooOooobo0ooDbOoooooOoooooOoon
goooooooooboooooooOoomooboooooooOoOoOooOoooOooOooooboOobooooobooon
ooboooooooooooooboobooobobooooooooooooobooOooDo

6.1 OOO0OODO

cobobOooooOoocoOobOoocOooobocOoobOoOoOoOooOoOoOooon

oo0ooono Ty O _
Ty = M((V — (7)) (6.1)

gooboooooooooooooboooo Iy 0ooooorooooo0oUoboooboobooOooDboOooo
0000000oooono (p00000000O0O0O0DOODOOOOOOOOOOO0OO0DOODODOOOOOO
gooo

gooooo0oo0obOOo0ooUdoOOo0ooOdOoOoUoDoOooOOD T=100000000 FOODOODOOO
00 T7,000000000310 T, 0000
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16 T, -

(1+16.65FAT ——

0 0.05 0.1 0.15
F
032 000000 T, 00O FOOOOM = 100,m = 1,dt = 00L,k=5L =1, =1,T =

10, kg = 1,7 = 1000, sample O 100000000, F = 0.0 ~ 0.150 00 Tx = (1+16.65F)T 000000
pooooooooooooooooo Iy OooOO FOOOODOOOOOOOOOOOOOOO

F=00000000000000D000 T,000000T=100000000000000 FOO
gooooooooooooooooooooo I, ooooooooooooooooooooooooo
gobooobooooooooobooooboooooDo
0320000 7,000000000000000000000000000000O0O0O0O0O0O0O0OOOAOG
T, =(1+eF)TOODO FO2000000000000000

62 ODO0O0O0OODOO

gobooboobboboboobooobbooboo
goobooboboboooooooooobobobobooooboobooboboboboboboboooo
0000000000000 000O0000DO0O00O0ODOO 30000000 OOO [T

1. 000o0o0o0oooooo
2.000C0O00OO0ooOobooo
J.0oooooooooo

gobbooobooooooooobooooooooooooonon

1. 000000000000
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goboobogd p(E):poe’m%EJ[II:II:J[II:II:JDDDDDDDDDDDDDDDDDDDDDDDD
0000000000000000 p(F)0000D0O0OO0ODO0O0OOO0TOODOODOOODOD
gobooboobbooboobobooobooboobbooboobobooboobbooboo
goboobooobuoooooo

2.00000CO0COOOoO
000000 dQ=TdS0O000000O00O0
coooooooo T:%EIDDEIDDEIDDDDDDDDDDDDDDDDDDDDDDDDDD
oooboboooooooooooooboooboooooooon

. 00000ooooooon
000000000000 000000000000000 22000000000 D=2vkgT OO
ooooooooooooooooODODOO DOOOyOOOQOOO %DDDDDDDDDDDD
07T0000000000000000000O0
0000 pOOO00O0~yO0O0OO0ODOOOOOO0OODOOO0OODOOO0ODOODOOOOODOOOOOOOO
ooobooooooooooDo

goood
1D

Teff = 5; (62)

oooooOooooooo0oDOO0O0 O VO0O0O0O0oO0o000000000 (8.131)D00O0UOOODO
gobbooooboooooooooboooobooooboooobooooooooooboooooDooag

6.3 0DO0ODOOOO0OO

63.1 0000000 Ty
00 FOOODOOOO (V)OO (8.131)0 VOOOOOOD 7, 000000

] 1D0+D2<V>2
el = =——
2 o+ 72(V)2

0310 Trpr 000000000000 FOODODT,,O0OO0ODOO plot0000O0O 3300000000

(6.3)
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8 1 1 1 1 1
0 0.03 0.06 0.09 0.12 0.15 0.18

033 000000 T,000 (63)000000 Tw07. 000 310 Trpr 000000000
000000000000000000000(V)0 T, 0000000000 v = 012114, =
—0.006744, Dy = 2.431,Dy = —0.1427,M = 100,m = 1,dt = 0.01,k = 5,L = 1,7 = 1,T =
10, ks = 1,7 = 1000, sample O 10000000, F = 0.0 ~ 0.180 T, D000 O0000T, 00000000

oooooooogo

ogooo F=0.1000000000000000D0D0000O0O0O0T,,000000000000O0O0AO
gooooooogoooooooooooooooooooboobooboooboon D(V):Q'y(f/)kBT
goboooboooobooooooooo

6.3.2 0000000 Te

T O
1(D(V)) 1Dy + Dy(V?)

e2 &= 3

2(y(V)) 2 y0+72(V?)
00000000000000000 Tw0 TwD T, 00000 plot 000000 340000000

(6.4)
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8 1 1 1 1 1
0 0.03 0.06 0.09 0.12 0.15 0.18

034 0 (64) 000000 Te, 00TwO0O00O0O000T, 000007 = 01211,y =
—0.006744, Dy = 2.431,D; = —0.14270(V> 0 7, 0000000000 M = 100,m = 1,dt =
001,k =5L=1+ =1,T = 10,kg = 1,7 = 1000, sample O 10000000, F' = 0.0 ~ 0.180 Ts, O
7. 00000000000

T 0T, 0000000DOOO0OO0ODO0O00OOO00O0ODOOO0ODODO T, 00000O0O0O0ODOO

64 DO0O0OODOODOO

6.41 0000000 Tes
0000000 o
wi=V — (V) (6.5)
00000000000000000000000000000000000000000000000
0 (65 0000000V =wu+(V)0OOODOO0OO00O00000000000O

MV = (V)7 + F+/D(V) - £(t) (6.6)

Ooooooood
MYV = oV — 7+ F+1/D(V) - €(s) (67)
V=t (V) (6.8)
]W%@HWV»:*%UH%V»*VAU+Ww3+F+ D(V)-&(s) (6.9)

gogbbooboobboobooboob«0bboobbooboobboobboobbooba

Mi = —(y0 + 372(V)?)u — 332 (V)u? — 1u® — 70(V) = 72(V)® + F + 1/ D(V)&(s) (6.10)
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00000000 <f/>DDDDDDDDDDD%‘?:ODDDDDDDDDD
0000000000 F=(H(WV)V)OOOF =~(V)+%(V3) 000000000

Mi = — (70 + 372(V)?)u=312(V)u? — 790
—70(V) = %2(V)® + 70(V) +72(V?) + {/D(V) - £(5)
Mi = —(y0 + 372(V)?)u—37(V)u® — you®

(
+r2({(u+ (V))?) )+ D(V) - &(s

000000000000000000 (6.12) 00000000000 wDO0DOODOODO

D(wu = —(y0 + 372(\7>2)u — 372(‘7>u2 — you?
I(u):=To+Tiu+Tou?+---

00000000000 IN(w)DO0D0O0O0O0ODO0O0OOOD (6.12) 00000

To = 70 + 372(V)?
I = 372<V>
Iy =

00000000000 D(V)0000000 (65 0000000000000

D(V) = Dy + DyV?
= Do + Day(u+ (V))?
= Do + D2<V>2 + 2D2<I7)u + D2u2

gobd~ryboobogbo (G.QO)DDDDDDDDDDD
d(u) := do + dyu + dou?® - - -
goooooodo

do = Dg + D2<V>2
dy = 2Dy (V)
do =D

0000000000 0D0O0O0OO0 (6.22)(6.15) 000000 Ty,de000DO0O 3500360000

o7

(6.15)
(6.16)
(6.17)

(6.18)
(6.19)
(6.20)

(6.21)

(6.22)
(6.23)
(6.24)



2.6

dy —e—

1.8

0 0.03 0.06 0.09 0.12 0.15 0.18

035 0(622)000000de 0000 FOOOOM =100,m=1,dt =0.01,k=51L=1,7=

F

1,T =10,kp = 1,7 = 1000, sample O 10000000, F' = 0.0 ~ 0.180

0.14

0.12

0.1

Gamma,

0.08

0.06

0.04

036 0 (6150000000 0000 FOOOOM =100,m = 1,dt=0.01,k=5L=1,7 =

" Gamma, —e—

0 0.03 0.06 0.09 0.12 0.15 0.18

F

1,T =10,kp = 1,7 = 1000, sample O 10000000, F' = 0.0 ~ 0.180
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00000000000 D0000DD0O0O0 I, 00000 d, 00000
_ 1dy
2Ty
_ 1Dg+ Do(V)?
2 0 + 372(V)?

0000007 0000000 T, Oplot0DOO0ODODOO 37000000

Tcg :

(6.25)

8 1 1 1
0 0.03 0.06 0.09 0.12 0.15 0.18

F

037 0(625)000000 Tes00000000 T,0000M =100,m=1,dt=0.01,k=5,L=
1,7 = 1,T = 10,ks = 1,7 = 1000, sample O 10000000, F = 0.0 ~ 0.18000 FOOOOODO
0<F<01000000 TesO T, 00000000000

F=0100000000000000000000000000C0O0O0OO

642 0000000 Ty
T..00000000000000D000000000O00DO00DOD 4000000000000D0O0

oo

MV = -7V —3V3 =y, VA + F+/D(V) -dB, (6.26)
V=u+ (V) (6.27)

M (ot (7)) = ot (7)) = ralas 4 (7)) + —aleu+ (7)) + F
4/ Do + D+ (V)2 + Da(u+ (V))* - dB, (6.28)
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000000000O0D00O0D (6.14)00 (6.21) 0000000 Iy, doDOODOODO

Lo =70 + 372(V)2 + 5y, (V)4 (6.29)
do = Do + D2<V>2 + D4<‘7>4 (630)

000000000 (6.30)(6.29) 000000 Iy,do00DDOO 3800390000

2.6 T T T T

dy —e—

1.8 : :

0 0.03 0.06 0.09 0.12 0.15 0.18
F

038 0 (630)000000 dy0000 FOOOOM =100,m =1,dt =0.01,k=5L=1,7 =
1,7 =10,k = 1,7 = 1000, sample O 10000000, F' = 0.0 ~ 0.180

60



0.14 T T .

Gamma, —e—

0.12

0.1

Gamma,

0.08

0.06

0.04 1 1 1 1 1
0 0.03 0.06 0.09 0.12 0.15 0.18

F

039 0 (6290000000000 FOOOOM =100,m =1,dt=0.01,k=5L=1,+ =
1,T =10,kp = 1,7 = 1000, sample O 10000000, F = 0.0 ~ 0.180

T.,.0 40000000000
_1d

2T,
1Dy + Dy(V)? + Dy(V)*
a 2 40 + 372(V)2 4 5y (V)4
000000740 T, 0O plot00000 400000

0370 1,3 00000000000 FOOODODODODOODDODOOD T,07T,4,00000000000
ooo

Te4 :

(6.31)

61



8 1 1 1 1 1
0 0.03 0.06 0.09 0.12 0.15 0.18

040 0 (631)000000 T00000000 7,0000M =100,m =1,dt =0.01,k=5,L =
1,7 =1,T = 10,k = 1,7 = 1000, sample O 10000000, F = 0.0 ~ 0.18000 FOOOOOOOO
T.s0 T, 00000000000

643 0000000 Tes
000000000000000000000000000V D 6000000000004dy,L0

dy = Do + Do(V)? + Dy(V)* + Dg(V)° (6.32)
Lo =0 + 372(V)? + 57.(V)* + T16(V)° (6.33)

oooooody,I'yOOOOODO 4100 650000

62



1-9 1 1 1 1 1
0 0.03 0.06 0.09 0.12 0.15 0.18

F

041 0 (632)000000d 0000 FOOOOM =100,m =1,dt =0.01,k=5L=1+ =
1,T =10, kp = 1,7 = 1000, sample O 10000000, F = 0.0 ~ 0.180

014 T T T T T
Gamma, —e—

0.12

0.1

Gamma,

0.08

0.06

0.04 : : '
0 0.03 0.06 0.09 0.12 0.15 0.18

F

042 0 (633)0000000, 0000 FOOOOM =100,m =1,dt =0.01,k=5L =1+ =
1,T =10,kp = 1,7 = 1000, sample O 10000000, F = 0.0 ~ 0.180

63



000000000700
1d
TC5::§F—Z
_ 1 Do+ DaoV)? + DaV)* + Do (V)" (6.34)
290+ 372(V)? + 534 (V)* + T6(V)°
00000070 plot00000430000000007,000000 FOOOOOOOOT,s0 T0
goooooOoooo

Tk T T T T T
20 |es —@— -

043 0(634) 000000 Tes 00000000 TR D0OOOM =100,m =1,dt =0.01,k=5,L =
1, =1,T = 10,kg = 1,7 = 1000, sample O 10000000, F = 0.0 ~ 0.18000 FOOOOOOOO

T 0 T, 0OOOODOODOODO

0007Te3,Tes, Tes 0000 FOOLFL0.1560000000000004 0000

64



0 0.03 0.06 0.09 0.12 0.15
F

044 Tus,Tes, Tes00 00000 ToO M =100,m = 1,dt =0.01,k=5,L =1,7' =1,T = 10,kp =
1,7 = 1000, sample 0 10000000, F = 0.0 ~ 0.180 0 0000000000000 Tes .1y O T O
000000000000000

0440000000000000000000007s,7Te,Tes0 T, 0000000000000000
goododoobobooooooboooooooobooooo (DDDDD)DDDDDDDDDDDDDD
0000000000000 (00)00070000000000000 7,00000000000000
ogoooooooo
65 000000000000
00000000000000000000000000
MV = -~V + R(t) (6.35)

00000000000000000000000000000000000000 V(s)O
t
. R
V@):i/ 7%26%“*”ds (6.36)

goboooobooooooooobbooooboooo

<‘~/(t)‘7(t/)> _ /_t ‘/_t <R(S]24}z(s/)>e—%(s+s')d8dsl (637)
keT -,
T a (6.3%)

0000000000000 0000000000000000000 (6.38)000000000O0OOOD
gboo~00O0000ODO

65



gooboobooboooboobooobooboobbooboobbooboobboobOoo

MV = —y(V)V +1/D(V)E(s) (6.39)
MV =—(y + Y VE V4 )‘7 + \/Do + DaV2 + DyVA - £(s) (6.40)

ooboboooooooooboooobobooobo0ooooooooo
coboboboooboooooooOoooOOoOoOobOOoO0oOoOOoOoOoOoOoOoOoOoOOoOO0OOOoOODbOOOObOoOOn

0000000000000000000~(V)O00O0oOoooooooo
gboooooboobobobooooooooobogobo

Cr(s = ') = (V()V(5")) = (V(s))(V(5) (6.41)

Oooo0 rFOO0OO0OOOOOOOO 4000000000

0.15 T T T T

R
CooT
=
oGO

0.125

0.1

0.075

C,(s-s)

0.05

0.025

0 1 1 1 1
0 500 1000 1500 2000 2500

S-S

045 0 (641)00000000000000000000 Cy(s—s)0000F =0,0.05,0.1,0.15
Oplot 0O0DOOOM = 1000m = 1,dt = 001,k = 5,L = 1,4 = 1,T = 10,kp = 1,7 =
1000, sample O 500000

000D 4500000000 1leg0 00000 4600000000

66



R

© OO T
g =
o Gio

log C,(s-s’)

-6 1 1 1 1

0 500 1000 1500 2000 2500

S-S

046 0450000000 Cr(s—s)OlogDOO0D0O (logCy(s—s"))000OF =0,0.05,0.1,0.15
Oplot 0O0DOOOM = 1000m = 1,dt = 001,k = 5,L = 1,4 = 1,T = 10,kp = 1,7 =
1000, sample O 5000001log 0000000000000 ODOOO0OOOOOODOOOOOOOOD
gdbOodobOoobooboobooo CT(stI)DDDDDDDDDDDDDDDDDDDDDDDDD
gobooobgooooog

04600000000000000leg000D00O0O0DODOO0O0OODOOOOOOOOODOOOODODOOO
goboooooooooooobobooooboooooooooooooDbog
000000y=exr+b00010000000000000000000O0D000O0 @, b00000000
oobobo eOOobOOOO0oOOOO0OOOOOOOOOODODOOOODOOODOOOOODODOOODOOOn
DDDDDDDD—%DDDDDDDDDDDDDDD 00 —MOOOOOOOODOOOOOOOO0O0O
000o0o00oooo —MeOOOOOO FOOOOOOO4v0OOODOODOO

67



0.13 T T T T T T

‘Ma —e—

0.12

0.11

0.1

0.09

-Ma

0.08

0.07

0.06

0.05 1 1 1 1 1 1 1 1
0 0.02 0.04 0.06 008 0.1 0.12 0.14 0.16 0.18

F

047 0DO0OO0O0OO0OO0OO0ODOOOOO0OOOO0O0OD0 «0O0-MOODOODOOOOOOO0ODOO0OO0O0O0DO0OO
gooooooooooooybOoOoooooo

00000 47000000000000000000D0O0O000O0O0O00O0O0O0O0D0O0O I'NyODOOOOOO
OO plot0 00000480000

68



0.14 . . .

Gamma, —e—
-Ma —e—

0.12

0.1

-Ma

0.08

0.06

0.04 1 1 1 1 1
0 0.03 0.06 0.09 0.12 0.15 0.18

F

048 04700 650000 plot0000002000000000000000000000000
goboooooooooooooOoooooOoOoO0oOoOOO0OOOO0OOOOOODOOOODOOObOODObOO
00000 ly0OODODOOOOOOOOOOOODOOOOODODODOOOO0O0o0O0oo00o0o0o0o0o000
gooooooocoooooooo

04800000700 —MeO 2000000000000000000000000ODOOOOODOO
gobodoboooobooooooooooooobodoooooooooooooooooooboooon
ooooooooooo0oOooooooOoooooo IyOOOODOOOOOOODOOOOOODOODOOOO
gobboooboooooboooooobooooboooobooobooooooboooooooon

69



( Joooooooo

god
gobobooobooboobbon

1. 000m<«MODODOODOD mOOOO MOODOOODOOOOODOOOOOOOOOO MOODOODO
oooboooobooooooboooooboooobboooobooooooon

2. 0000000000 000O00OoooOooooooooooooooooooooooooooon
ooooooboooooooo 2000000OooOoO0O0O0oDOo0oooooooooD yOODOOODO
coooboooooboocooooooooboooooooooy0ODOOOOODOOODOOOOOOOOO
goooooooopooopooOoooooLoooooo pooooOOOoOOOOOODOOOOo

J.00ooOOoOoO0O00O00O000oooooooooooooooooooOoOO0O0n v,v2,74, -
ooooooooooooooboboooon F=<7(\7)f/>DDDDDDDDDDDDDDDDDDD
Oob0OO0oO0000 v,v,7,--- 00000000000 C0O0DOOOOOOOCOOCOCOOOOOOOO

0000000000 D(V)ODDOOoOooOoOODOoO0oDLDOOoOooOoOOoOoo

cooooooo

1. 0000000 T, :=M((V —(V))0000000000000 70000000000 7000
00T, =(1+eF)TO0000 FO 2000000000

2. 00000000000000000D00000000000000000000000000000
000000000000 D000000000000000000000000000000000 7T
afufufslalalals

3. 000000000000 (V)00000000000w:=V—(V)0OOOOO0OOO0O00000
000000000000000000000 «000000000000000000000000
v(V)VO «w0O (V)0OOOOOOO0OO0O0O0O000000 «0000000TT,0000000000
0000000 D(V)O w0 (V)ODODDODOOOOOD0000 w0 00000 d 00000000
000000000 £ 0000000000 T, 00000000000000 T.;;00000

270
00T, 00000000

googo
00000000000 0000O00ONonequilibrium Langevin equation and effective temperature for
particle interacting with spatially extended environmentO [1]00000000000000000OOO

70



I,O0oooooooooooooooooooooOoooooooooOoooooooooooooooo
00000000 1, 00000000oogoooog

00000000l ooooooooooo2000300000000000000000000000O0A0
gobbooobooooobooooooboooooboooboooboobooooboooooon

71



g OO
cooboooooboocoobooooOoooOoOooOoboOoooboOo0ooOoOOoOoOoObCO00ObOOoOoOobOOOOoOoDnn
ooboooooog

8.1 ODOODOODOO

41000000000 0000000000 DOOO00ODOO0OO0OODOO0O0OOO00ODO0O000000
oobboooboooobooooooooooboooobooobooooboooooon

8.1.1 DODODOO1
tobobOyO000O0O0O00DOOOOOOOOODOOO

F={0H()V) (8.1)

0000000000000 00000y000O0DO0DOUOD (yOUODODODODDODODODODOOD
0ooooono)

F=~(V) (82)
gl oooooboo
y aHznt
V=—mt (83)
00000D00O0oOooooooo (oooo
y aHznt
<MV>_<— o >+F (8.4)
_ aHznt
0_—< 8X>+F (8.5)
3H1’nt o
(Vs »

gboboboboboooooooooooboobooooooooboan (MV}:ODDDD[ID[ID[ID
0000000000 oooooFrOoOoooooo <%)D y=z0000plot 0000000 49000

0000000000000 0O0ODO0O0D 86)DDODO0DODODLODDOODOO

72



0.16 - <dHint/dX> °
y=X

0.12

0.08

<dH;,/dX>

0.04

0 0.04 0.08 0.12 0.16

049 FO (M) p y =20 plot 0000000000 10000000, = 10,L = 1,k = 5,7 =
1,M =100,m =1,dt =0.01,7/ =1,k = 1,F =000 (8.6)000000000000

000000 FO0O00OO0OO0DO0OO0OO0ODODOO0O000O0D000O000000000d
MV = =4V + F + VDE(t) (8.7)
goooobobooooboooobooa (8.7)D[IDIZI[IEJIZI[I (}D[IEJIZI
(W)=F (8.8)

00D00(MV)=0,(/DER)y=000000)00000 (8.6)00 (8.8) 000

o o aHznt
<7V>F<8X > (8.9)
ooboobooboybOOoOobooa
(vy = ( Hine (8.10)
v = 0X .

Jooooooooooon (8.3)DDF:ODD
8Hint

MV = — 11
Vv aX (8.11)
oooooooo (e ooooo0o (2(%e)0000) 0
Y aHznt aHznt 8Hint
MV__< 8X>_(8X _<8X >) (8.12)
00000000000 10000 (810)004V 000000000000 200 R)0O00OOOO
R(t) = (=5 — (a5~ ) (8.13)

73



00000000 R(#) 000000 Crt—t)0
Cr(t—t') = (R()R()) — (R()(R()) (8.14)

0000000t—¢ =w00000CR(E—#)=Cgr(u) 0000
0000000000 D=2yp7T 000000000000

/ Cr(u)du = 2vkgT (8.15)
0

0000000000000 0000000TOOOO Crluw)D0O0O0DODOOOOSO0O0O00DOO

25

20 &

15

10

CRr(u)

050 0(813)0000000000000 Cr(u)( 0 (8.19)0M = 100,m = 1,dt = 0.01,L =
Lk=5kp=1,=1,00000 100000, F =007 =5,10,20000 Cr(u) O plot 00000

O05000000000000 2ve700000000000 00000000000 CgOOOOOO
00000000 y00000000TODOOO0O0OO 29kpT000000O0O0O0OOODO
CrO00D000 kT OODODDOOOOODODOOOOODOOO

8.1.2 0OOOODO 2

0500000000000000000 Cr(0O)0DODODOOODODOOODOOOODO
goooooooooooooooooooooooooooooooooooooooooo Troooon
gobooobooooboooooooooooa
0o0ooooooooovoooooooooooooooooooooooooobooovooooooo
oooooooo0oooo0o0o0oooOo0o0ooooOo00bL ToOD000OO0O00ODOO0O0

74



ooT 5 10 20

ooo 1.662 | 1.258 | 0.9488
vy 0.3543 | 0.1268 | 0.04772

2vkgT | 3.543 | 2.536 | 1.9088

05 00007000000 (813)000000OOOOOODDODDODDD (081500000000
000000 ~0002v7T 00000000000 Cr=00000000000 (0500 u=0.4)
0000000000000 2vkg7T0000000O0OOO (O (815)00000000O0)00000OO
ogo

00000000000000
MV = —4V +VDE(t) (8.16)

00000000000+ 000000000000000000000000000000000
VDE(t) = MV +~V (8.17)

goooodboybbbobobobbobbdddb Dbt U o
R(t) O
R(t) := MV + 4V (8.18)

0000000000
Cr(t—t') = (R)R()) — (R()(R(t")) (8.19)

gboooooooosloboobobon

(0]



051 0(818)0000000000000 Cr(u)dM =100,m =1,dt =0.01,L=1,k=>5kp =
1, =1,00000 50000, F =007 =5,10,20 000 Cr(u) 0 plot 000000 500000000
0(8.18) 00000000000 DNN000ONDNN00O0ODN

0500000000000000000000000O0O0O00O 24T 000006

ooT 5 10 20

ooo 1.669 | 1.263 | 0.9498
vy 0.3543 | 0.1268 | 0.04772

2vkpT | 3.543 | 2.536 | 1.9088

06 0000 TOODOOO (818) 00000000 ODODODODOOODDO (O (815 000)00
0000000000007 00000000000 CrR=00000000000 (O 500
v=04)0000000000000 2470000000000 (0 (8.15)000000000)0
gooooooo

O00000OD0O000O0 =2k 00000000000 OOOOOOOO

gobodooobooooboooooooooboooobooooooooooooooooooooboOooon
goooooo

76



82 ODO0OOUODOODOUDOODODObOObOODOD

0000000000000 000D00000D000000O0O0O0DO p(Vy)OODOD0ODOD0O0O0O0ODoOooOo
coobooooooooooooooOoooOobOoOoboOooOoOobooOoOoOoOobOOoOoOoOboOoOoDbOoOoOoobooOOn
ooboboooooooooboooobooobooooooooooOooD

821 OOOOODOOOOOOOODOODO
goboobobooboobbooobooboboooboobboboboobboobUoobbooboOoo

gooooobobobooooobobooooboboooobooobobooboobobooooobooo

gobooboobboooboobbooobuoobbooboobbobobooboo

V=F(\V)+R(tD (8.20)

0000000000000 F(V)=-2V,Rlt) =¥2:le)0000000000000000000
0000000000000000000
0000000000000000000000000000000000000000000
F(V)=£ - 2v-2y3R(t)=/DV)t) = Y2tV e() ppOODDOOODO00000000000
0000000000000

2
OODO00O0F(V),Rt) 00000 F(V) =1L — LV —2V3R(t) = /D(V)t) = Y2tV oo o
000000000000000 (82000000000000000000000000
0 (820000000000 t+At00000MO00OO

/HMVWMﬂz/HMFWWDﬁ+/HmRWMﬂ (8.21)

O000At0D00000O0At0OD F(V(¢)DODOODOOOoODOooo0oOo

t+AL
/ FV(E)dt ~ F(V(#))At (8.22)

0000000000000
AV :=V({t+A)-V()0OOODO (8.21)0

AV = F(V)At + AW (8.23)
O00D00000AW O
t+dt
AWH:/) R(t")dt (8.24)
t
OO0DoAwWOOO
(AW) =0 (8.25)
(AW?) = (D(V)) At (8.26)

gogbooooobgd

7



0000000000 (V)0 f(V(E+At)0000000000
00000000000V O+¢0000000000(VOOOOO00000000000000)00000

f(V(t+A) = f(V(t) + Z—J;At + %‘%A# SRR (8.27)
0000000000
daf dv
fﬂdt+Aﬂ)=fﬂdﬂ)+gvzﬁAt+AtDQEMJD (8.28)

000000000000000A¢t0000000 £ 000000000000020 44000000

00000 VOoO0OO00000O000O00000O000D0DO000D0ODO0oOOOLUOoDOoOOO f(V)D
oovoooooo

_ of 10%f \ o
fWWﬁHQ—fWU+5VAV+§mﬁAV-+AVD3DDDDD (8.29)
0000 (8.23)0D000OO
FV+AV) = f(V) + g(F(V)At +AW) + 1ﬁ(F(V)At +AW)? +AV O 300000  (8.30)
ov 20V? '
00000000000000000000000
of 19°f 2
(ﬂv+Am>:U@w+<3vwﬂoAHﬁMm>+<2mﬂu%mAr+AW)>+mVDSDDDDD>

(8.31)
oooo

0000000000000 000U0o0OUAtODODoOoUoOO %DDDDDDDDV(t)DDDDDDDD

0000000 AtOOOOoOO %DDDDDDDDDDDDD

000000000000000000000 AW?2000000

LOPF(V (1) \ o2
gooooooo
AW OOO0DO
t+dt
Aww:/ R(t)dt' (8.33)
t

000000000000 f(V()00000 t000AWDDO000 ¢t00 t+4dt00000000000
0000 ¢00 R) D00 t+dt00 R(t+dt)0000000000000000R®E) 0 R(tD dt)0 O
0000000000000AWO f(V(t)00O0D0¢t0000000AWOOD0O000 ¢#00¢<¢ 00
00

10%2f(V 9 1 /O*f(V 2

78



00000 (8.26) 00

_ % <‘9 J(; (‘YQ“))> (D(V))At (8.35)

00000000At000000000000
0 (831)0000 200

<§€;(F(V)At + AW)> = <g“i(F(V)At> + <(§“£AW> (8.36)
00000000000 20000 (8.25)00
(28 sy = (2 13wy o o)
goooooooo
<;J;(F(V)At + AW)> = <2‘J;(F(V)At> (8.38)

0000 (831)0000 300

10%f _J19*f 10%f 10%f
<28V2(F(V)At + AW)2> = <28V2F(V)At2> + <28V22F(V)AtAW> + <28V2AW2> (8.39)

00020000 (834000000 At0 AWDOODOODOOO (8.25)000000000000
03000 (8.26)0000

10°f /1 0%f
<28V2AW2> = <28V2D(V)>At (8.40)
0000000 (8.39)0
10%f /1 0%f 10%f

0 (8.41)0 (8.38)00 (8.31) 000000
(f(V+AV)) = (f(V)) +

of 10%f 102f
<8VF(V)At> + <28V2F(V)At2> + <28V2D(V)> At+(AV D 300000)  (8.42)

O0O00OR#)D0OO0O0O0OO0D0O0O0ODOO0AWDOODOOODOODOO0O000000000000(AW3)=0
0000(00b00o00oOoo0oDoooOoo

(AV D 300000 )« A?00 (8.43)
Oo0000O0O0000
d _ o UVt A)) = (f(V(R)))
@)= dim, At
of D(V) 0*f
= <avF(V(t))> + 232> (8.44)

000000 f(V(t)000000000000000

79



coooOooobOocoOoboooobooooboooooOooOoOoOoOoooOooon
0000000000000000000000 p(V,t) 0

Jim p(Vit) =0

. Op(V; 1)
Jm =5y

gobooboobbooobooboooboobooboboon

-/ T W)pvav
= [

=0

gooboobogoo

oooo

0(844)0000000D00ODODO1I0OOO

(gLrwan) = [~ SLraepmna

goboobogoodg

(GErma) =IFVIEoe - [~ 1) Ev Oy

< > - [ g FO)v)av

oo0oo0oooooo 2000

0 (8.45) 00

D(V) f\ _ [> 9*f D(V)
<2av2> Loz g VbV
O0oooooooono
52 D(V af D(V ~ af & D(V
6VJ; (2 )p(V,t)de[fa“ii(2 )p(V,t)Loo— _waéavg)f)(‘/’tw

_ [T 9r 8 D(V)
N /_Ooavav 2 p(V:)dv

00000 (8.45) 00000
0000 (8.53)00000000

= 9f 9 D(V) 8 D

[ B v = o0 P oz + [ aw g P vy

LOVOV 2

AN

80

(8.45)

(8.46)

(8.47)

(8.48)

(8.49)

(8.50)

(8.51)

(8.52)

(8.53)

(8.54)



00000 (8.46) 0000000
0000000000 (8.44) O

/f 6”thv_ / FN-ZLgFv @) (Vt}dV+/ £V a%@;)(v,t)dv (8.55)
000000o0ooo f(V)boooooooo
2
WD) O v} + g 2 v (8.56)

goboobooboboooboobooobooboobbooboono

822 DOOOOOOOOOOOODOODODOO
0000000000000 0D0O0000000D p(V,y) 0000000 DO0OD00O0O0OOD0ODOOODOO
000000o0ooo (856)0000

op(V,t)
5 =0 (8.57)
oooOoo (8.56)|:|[||]|:|[| 1000000
B 92 D(V)
T/{F(V(t))P(V)} = WTP(V) (8.58)
Oo0ooooovoooooo
0 D(V)
F = .
(V(#$)p(V) = W3 ——p(V)+C (8.59)
0o0o0o0Co0oonooooooooonoV -cogooooag
Jim F(V(5)p(V) =0 (8.60)
0 D(V) _
Jm gy V) =0 (8:61)

00000 (0 (55)(56)000000)00000 C=000000000000000000000000
Dooo
FV@)p(V) = o ——p(V) (8.62)

gooboooo

0 (8.62)00000F(V),D(V)DDOODOOO

F(V)= % - MV - MV?’ Mv5 . (8.63)
D(V) = % + 1 Z2y? 4 e Diya, (8.64)
00000 (862)00000000000000 (8.63),(8.64)00 (8.62)000000
P o) = ;220 vy 4 PO (5.65)
(57 - MV - By Jiys)pw)
2( ]\Z’;v+47v3 Y (V)+;(%+—V2+ Diye. )% (8.66)



gobooooooooooooooooooooooooooooooooooooooon p(f/),a—g(“/ﬁﬂ

0000000000000 0oOOD y(V)ODOOoOoD(V)ULOODOOUOLDODLOODDODDOUODOOOD
gobooobooooboooboooo

D0000000000 VOOOOOO0OOO000 52000000

1.4 T T T T

rho(V)

052 00000000000 VOOOOO0O0O0 p(V)0OO VOODODOOO00 10000000000000
0000000000000000000 VOOOO0O0O000 0.0100000000000000 100
000D000000000M =100,m=1,dt =0.01,k=5L=1,7 =1,T =10,kg = 17 = 1000
00000000000 F=0,0.07,01500000000 plot 000

0000000000000 v,7,D0,D, 0 400000000000400000000000
Y0,72, Do, D, 00000000V,00p(V)000 FOOOOOOOOOOOOOOOO FOOOOOOO
400000000000000 ~9,792, Do, D, 00000

0000000000 p(V)OODODODODOOOOOlegp(V)ODODDOOODOODOOODODODOODOOO
O0o0o0ooooOoooooOoOoO legDO0OOOOOOO

0 (8.66) 0000 MOOODOOp(V)OODODO

(F =70V —72V?® —%uV?) (8.67)
1, Dy Dy~y 1Dy Dy,
2(MV+ MV)+ (M+ V?)

op(V) 1
goooobooooooooon Py p(f/)D

dp(V) 1 _ 9dlogp(V)

V) 1 (8.68)
v p(V) oV

82



000000000 00000000 Fooooo v,2%4Y) 00po000000000000000
0oo0o

O000O0F=0150000000004000000000000000F=0.1500000 VO0OO

Olog0O0000logp(V)OO 530000000

2 . . .
F=0.15

log rho(V)

b
8| 83 -

0N *»
L 4

_10 1 1 1 1
-1 0 1 2 3 4

053 F=01500000VO000p(V)OM =100,m = 1,dt =001,k =5L =1, =1,T =
10,kp =17=10000 000000000 VOOOOOOOOOO

DDDD%‘QMDDDDDDDDDDDD V =0.7,12,1.7,230 4000000 54 000 53000
0000000040000V =0.7,12,1.7,230000000000000

83



2 . . :

‘tho(V) o
0 V= 07121'723 []
—~ -2 i i
S
£ 4y |
(@]
= <
6 L ]
* %&
o _
10 - - - - -
0 0.5 1 1.5 2 2.5 3

V

054 0530 F=01500000V000p(V)000000000000000000V =
0.7,1.2,1.7,230000000000000000

DDDDDDDDDDQ%%@DDDDDDDD5&W5N%DDDDDDDDDDDDDDZWDDDD
0000000000000V +0100000000000000000000000000000000

DDDDDDDDDDDDQ%§JDDDDDDDD

84



log rho(V) &
5.365V-5.663 — <

0.6 0.65 0.7 0.75 0.8
\Y

055 0540 V=07000004+0.10000 logp(V)O plot 0000000V =0.60.8000
logp(V)ODOODODODOOOOO0O0O0O00000000000 5.365V — 5.663

0.25

log rho(V) @
1.623V-2.093 o

log rho(V)

1.1 1.15 1.2 1.25 1.3
Vv

056 0540V =1200000+010000 logp(V)O plot 0000000V =1.11.3000
logp(V)ODOODODODDODOOOOOOOO0OO0OO0O0O0O0O0O0O0OO0 1.623V —2.093

85



log rho(V)

057 0540 V=17000004+0.10000 logp(V)O plot 0000000V =1.61.8000

-0.2

-0.3

-0.4

log rho(V) &
-2.063V+3.285 o

-0.5
1.6

1.65

1.7 1.75
\Y

logp(f/)I:IDI:IDDDDDDDDDDDDDDDDDDDDDD —2.063V + 3.285

log rho(V)

058 0540 V=23000004+0.10000 logp(V)O plot 0000000V =2224000

1.8

-3.3

log rho(V) &
-5.761V+10.79 —o—

2.2

2.25

2.3
\Y

logp(V)0DDODDODOODD0OO000000000000000 —5.761V + 10.79

F=o015000000000 2%M popgpg 700000000

ov

86

2.4



V 0.7 1.2 1.7 2.3

31%3(‘/) 5.365 | 1.623 | -2.063 | 5.761

D7 F=0150000 Vo 22 gpog

0700000F=015M=100000000 (863)0000000DO0O0ODOOON0 59,72, Do, D2 O
0000800000000 0D0O0O00DO00O000UDODO0O00DDODO0O0O0B0O000 v0,7v2,D0,D2 O

Yo V2 Dy Dy
0.1345 | -0.01188 | 2.618 | -0.5152

08 UO0O0O0OD (868) 00D 7T0LOLOUDUOLDODOUDUODDDODO

000090 2000)000

Y0 Y2 Dy Dy
0.1210 | -0.006744 | 2.4433 | -0.1682

09 00V?0000004(V),D(V)DDD0020000M =100,m =1,dt=0.01,k=5,L =
1,7 =1,T =10,kg = 1,7 = 1000, sample O 10000000, F = 0.0 ~0.18 00000 (V),(V?),(V?3),

O0D00F(D(V))0000000000000000000

0800 9YyooooooooooooboOoooooooooooooooooooooooocoboOoOooo
gobooooooobooooooboobooooooboooooobOOoooOooooOooDOo0 6200630

0 F=+(\V)00O0OUO0O0O0O0OO0O0OO0O0O0O00O00000000O0OO0DOOO0OO0 D(V)ODDOoOoDo
ooboooooooog

87



83 OO0UODO~DOOO M,007TDOODO

gooooooooooooooooooyboOoo M,00000TOOOOOOOOOO
000000 MOOOOOODODTOOODOO (4.22)000000000+~000000000 5900 60
oooo

[ T-10 —e_ |
T=20
012 B ./.\._/_.—. .
s 01t ]
e
E 08| |
(@)]

0.06 o ¢ ° ° ¢ ]

0.04 1

0.02 -
10 100 1000

M

059 000000 MO~0190 F=+~(V)0OO0OOO0OOO40000000 MOOOO
M =100,m=1,dt =0.01,k=5L=1,y=1,T=10,kg =10000000 MOOODOOO 0O
00000000O0O000000

88



gamma
o

0.01 : :

T

060 O0D000TOA000000 190 F=+(V)0DODOODO0OO0OOO0OO0OOM = 100,m =
1,dt = 001,k =5 L =1,/ =1,kp = 100000 T7T0~000000000000000
vy=4.1337"**000000o0o0o

05000000000 MODODODODOOyDOOO0DO0D0ODOODO0DODOOO0ODOOOyOODOOOO M
gbooooooooooboo

oe00000000OODOOO0OOTOOOOOOOODyODOOODODOOOODOyOOODOOOTODOOO
00000000000 plot0000TO 0000000000 O0O0OO0O0OOOM =1000~000
TOO0O0O0O0O00ooooooooooyoooroooooooon

v = 5.482T 1697 (8.69)

ooooo

89



84 U0OUOUODO T, 0000000 e0ODODO

000000 T, O o
T := M{(V = (V))*) (8.70)

000000000000000 7, 000610000000 FOOOO
T, = (1+aFHT (8.71)

gooooooOoOoOoOOO0O0OoOoTOoOOOOOOOOOOOOOOODOOOOOODOOOO eOOO MO
ooooo 7,0000oooog~ooooooooon

16

T, —=—
(1+16.65F)T ——

0 0.05 0.1 0.15
F

061 DO0O00OOO 7,000 FOOOOM =100,m = 1,dt = 001,k =5,L =1, =1,T =
10,kp = 1,7 = 1000, sample O 100000000, F = 0.0 ~0.15,0 00 FOOOO0OOO0O0O00O00OO
ooooo

goooboboooooob rOoooobobboooobbb sO0DDLDbOOOOOODDDDOOOOO
62000000

90



18

tau=10 —a— ' ' '

tau=100 —e— 4

tau=1000 T
16 | tau=10000 /

14 % |
=~ y
.
12 | . |
P
= o
10 f—a—a—12= |
8 . , | | |
0 0.03 0.06 0.09 0.12 0.15
F

062 000000 T,000 FOOOOOOOOOO r0000M = 100,m = 1,dt = 0.01,k =
5L =1, =1,T = 10,ks = 1,7 = 1000, sample O 100000000, F = 0.0 ~ 0.180 7000000
000000000000000000000000000000000000000 «0000000
0000 r0000000000000000

06200000000000000000000000O0O0O0OOOOOOOOOOCOOOOO

oooooooo0o MOOOOOOOOOOOOOOOOOOOO 0100000000000 MOO
0000 T0000,0000 «00000063,064000000

91



25 . . .

T=3 —a—
T=5 —e—
o0 | T=10
15 | -
(4]
10 | -
.\‘/.\.—/’.\.
5| ) -
Ao —A A
0 1 1 1
0 50 100 150 200
M

063 000000 MO a«OO0O0Om = 1,dt = 001,k = 5L = 1,9/ = 1,kg = 1,7 =
1,sample O 1000000000000 M OODOODODOODOOO0OO0OOD0OO0O00O000000 «000O
ooooooooOoo

100

10 |

5 25
T

064 DODO0ODOTO eDOO0 M =100,m = 1,dt = 0.0,k =5,L = 1,4 = 1,k = 1,7 =
1,sample 0 10000000 00000 70000000 3<T7T<2000000000000000000
0000 «00000000000D0000D0D00000

92



06300000 «000000000O0O0OOOOCDOOOOOO0O0O0GMOOOODOOOOTO30O0
2000000000000 O0TOOODOO

a = 0.459671-5897 (8.72)

goboooooooooooooo

000oooooooo 2<MO0000000O0O0O0C0CO0TOT=100000000000 7,00
(8.71) 000000 FO 2000000000000000DO FOOODOODODODOODODODOODOOOO
0000000000000 2<MO0000000000 2 <TOOOOOOO0OOODOOO0OO
(8.71) 000000 FO 2000000000000OD0 FO 30040000000 0O0O0ODOOO

93



85 UDO0OODOODODDO
goboobbobbooboobobooboobboo
dxt:a(xt,t)—l—b(xt,t)-dBt (873)

goboobooboobboobooboo

MdV = —y(V)Vdt + Fdt ++/D(V) - dB, (8.74)

000 70,72,7,--0Dy,Ds,Dy,--- 0000000000-000000000000000000000
0ooooo
0000oO00oo0o0ooood

b(ze, )dB,0 — / D et (8.75)

gobobobooobooooooooooooooooood
oobobooooobooooooooooOobooOoboOobobooOoobooOooooobOoOoOoobOoOooboOoOooobooOoOoo
gooobooooooooooooooooobo0oooooooooooDboOoooDooOooDboOoOooooOOog
coobobooobooooooooooOoboOoOobOOoOoOoOooOoOobooOoooOooDooOon

oooooooooog

1. toOOOOO
2. Stratonovich OO0 OO0
3. Anti-TtoO O QOO

o30fdbfdobobooooobobooooooobDobD0ooOooDob0obobooobOooDooDOobDOoDboo
gbooooboobooboboboooooooooobobo

f(t) = bla, 1) (8.76)
0ooooo

1. toOODODOO
000000000000 000te000DOODOUOf(t)dB,OOOLOODOOOOODOOODOO

J(t)-dBy = lim f(t)[Brsar — Bi (8.77)

0 6500f(t),Bia—B, 0000000000000 f(t)000000000000000f(t+At)
0000000000000000000000000000000000000000000 £(¢)
000000000000000000000000000”-7000000

94



Bt+At _ Bt

t

065 DOO0O0OOOOODOOOOfH)D ft+Ay)DO0OO0DOOOODOOOODOODODOODOOOO

. Stratonovich 0 OO OO
StratonovichDDDDDDDDf(t)dBtDDDDDDDDDDDDDDD

F(t)odB, = Jim 1O TIETAT

Aim 5 [Birat — Bi) (8.78)

0000000000000 0O00 f)OODOO0O0OO ft+AH) 0 20000000000000
Stratonovich OO 0O ”o” 000000

CAnti-TtoO OO OO
Anti—Itol]|:|D|:|DDDDf(t)dBtDDDDDDDDDDDDDDD

f(t) ®dBy = Aim f(t+ At)[Biyar — By (8.79)

00000 fi+Ay) 00000000000 D0ODOOOD0ODOOD0OO0OODO0OO0ODOOOOODOO
O0O00OAnti-Ito0000O00000O00O00ANti-Ito000 "@”000000

0003000000000 000O00O00O00DO0O0O0O00OO0
Itod OO StratonovichOOOOOOO

b(xe, t) df (x4)

f(xt) ~dBy = f(iUt) odB; — B) dz,

dt (8.80)

95



ItoOOO Anti-Ito0O0O00OO0OO

df (z¢)
dIEt

f(zy) - dBy = f(x4) 0 dBy — b(24, 1) dt (8.81)

3000oo0000oooO0000ooooO0000ooOO0O0000D0O0O000000 ItoO OO
0000000ne0000O0O0O0O0O0O0O0OOOOOOOO
gobodoobooooboooooooooobooooboooooooooooooooo

f(zirar) = fxy + dwy) (8.82)
:f@0+%ﬁm (8.83)

00000000000 df(z) = Ldz,000000
0000000000000000

dzy = a(xy, t)dt + b(xe, t)dBy (8.84)

gogbooooboobbooboobboobooboooboobbooboobo
gooboboboboooooooboboboboooobooog

df (z1) = f(@e + day) — f(24) (8.85)
= fldz; + %(dxtf + O(dx}) (8.86)

00000 (dey)?00 (8.84) 0000000
(dl‘t)
Tt

2 = [a(ws, t)dt + b(wy, t) - dBy]? (8.87)
(dxy)? = b (x

(e, t)dt + O(dt?) (8.88)

0000dB2=dt00000000000(dz)?0 dt00000000000000000000 df(x)
n

1"

df (z;) = f'dzy + %bz(xt,t)dt +O(dt?) (8.89)

goboooooooooooobodoobooooboooooooooooouoooooon

000 Stratonovich OGO O OO
dzy = a(xy, t)dt + b(xy, t) o dBy (8.90)

O0000Tto O StratonovichOOD OO OOOOO day O

b(x, 1
det = a(:ct, t)dt + b(fﬂt, t) . dBt + %b/dt (891)

96



00000000df(2,) 0000000000000000000000000 a(xy,t) := a,b(zy, t) :=

b, f(z) == f000000
df (x1) = f(2e + day) — f(24)

f//
= f/dxt + g(dl't) + ..
, b/
= f'(adt + bdBy + —-dt)

1 bb
+f Sy (adt +bdBy + =-dt)* +

= (f'a +fb—b/+f—//b2)dt+fb dB; - -

ooooo (8.80)|ZIDDf’b-dBtD Stratonovich D00 O0O0O0OO

=(fa +f f/IbQ)dtJr(fb) dB; -- -
(f —|—f bb/ f//bQ)dt+bedBt (f/b)lbdt
= (f'a+f'7+7b2)dt+f’bod3t f//det f bgdtm

= f'(adt + bo dBy)
= f’dl“t

coobooooooocoooboocoooooooon

(8.92)
(8.93)

(8.94)

(8.98)
(8.99)

(8.100)

(8.101)
(8.102)

ItoO OO Stratonovich OO O ODOO0O0OO0O0D0O0O0OO0O0OO0OOOOOOOOOODOOOOODOOOOO

MdV = —(V)Vdt + Fdt ++/D(V) - dB;

oooOoooo
AV = — L(V\Vdt + ~—dt + D) dB
T M M M K
o, F /D) a /D) (V)
dV = (VVdt + —dt + Sl g0 M dt + o dB;
oy F D(V)d\/D(V) D(V)
4V = g (VVit 4 jpdt + 2o " emdi -+ o dB,
- 4y F 1 dDp(V) . D)
__ s B
v M(V)th+Mdt+4M dt+ Y=o dB,
- oo 1 d\/
MdV = —(y(V) dt + Fdt +/D(V) 0 dB,
ooo

YV) =70 +7V? +uV* + 3V +
D(V) = Do+ DyV? 4+ DV* + DgVO +

97

(8.103)

(8.104)

(8.105)

(8.106)

(8.107)

(8.108)

(8.109)
(8.110)



00000 (8.108) 0000000 fy(f/)VjLﬁLfVmD

_dy/D(V)

- - 1 d - -
2 4 2 4
-~ _ = oo ——(Do+ D D4 A11
(V) + % Yo+ 72V 4+ 7V + +2MdV( 0+ DoV 4+ DgV*=---) (8.111)
- - 1 - - -
=y +7RVi+y Vit 2DV + 4D,V3 46DV 4 ---)  (8.112)
Dy - Dy s 3Dg . ~ s
_ 11
(70+2M)V+(72+ M)V +(va+ 2M)V (8.113)
00000000000 ) i )
Ys(V) = 70 + 752V +7uaV* 4 -+ (8.114)
000 ~(V)0DOO000(V)00000000
Dy
o= 8.115
Y50 =%+ o (8.115)
D
Yoz = Yo + — (8.116)
3Dg
= 8.117
Vst =Yt o (8.117)

© 0

gooo
O00O0Tto0O0OD Anti-Ito0000000 (8.81) 000000 DODOO0DODOODOODOO Anti-Ito 00O
gooon

Mdv V)W 4 — YD) dt + Fd \/W dB 11
=— — X \dt t ,
YV + 577 e Jdt + Fdt +/D(V) ® dB; (8.118)
0000 StratonovichOO OO OO0
Ya(V) = a0 + 742V + yaaV* + - - (8.119)
000 v(V)0DOoOoooo
D
Ya0 =0+ 57 (8.120)
oy 222 (8.121)
YA2 = 72 Vi .
3D
Yas =+ WG (8.122)

10
DDDVA07’YA27’YA47"'DDDDDD
00 VvVo 200000000, v4a0000000ODOO8SOO0DODOOOOODOOODOODODOODO
O0000000000000000000000 vs,7y42 000000 0D, =000000000

oooov4ooooooo V5,74 000000 11 0000000000000 va4,744 000000 O
Dg=000000000

98



Dy Dy
2.4433 | -0.1682

Yo 2
0.1210 | -0.006744
Vs0 Vs2

0.1204 | -0.006744

YAO YA2
0.1196 | -0.006744

010 OO0 V2000000 4,74 0000M =100,m = 1,dt =0.01,k=5,L =1, =1,T =
10,ks = 1,7 = 1000, sample O 10000000, F = 0.0 ~ 0.180

Dy D, D,
2.444 -0.1785 0.008708

Yo Y2 Y4
0.1236 | -0.009407 | 0.0004505

Vs0 Vs2 Vs4

0.1227 | -0.009319 | 0.0004505

YAO0 YA2 YA4
0.1219 | -0.009232 | 0.0004505

011 00 V4000000 4,74 0000M =100,m = 1,dt =0.01,k=5L =1, =1,T =
10,k = 1,7 = 1000, sample 0 10000000, F = 0.0 ~ 0.18

0000VSO0O0OO0OO0000 ~,74 000000 120000000000000 ~s6,746 000000 O
Dg=000000000

Do Dy Dy Dg
2.446 | -0.1876 0.01422 -0.0006998
Yo 2 V4 Y6
0.1243 | -0.01078 | 0.001003 | -0.00005438
Vs0 Vs2 Vsd Vs6

0.1234 | -0.01065 | 0.0009922 | -0.00005438

YAo VA2 YA4 YA6
0.1225 | -0.01050 | 0.0009817 | -0.00005438

012 00 VOOOOO0 4,74 0000M =100,m = 1,dt =0.01,k=5,L =1, =1,T =
10,k = 1,7 = 1000, sample 0 10000000, F = 0.0 ~ 0.18

99



coooOoooboocoobooooooOoooOobooooa
goboooobooooooooobbooooooo

1 Dy + Do (V)2
Toy = 7“72“?2 (8.123)
2 49 + 32(V)

1 Do+ Do(V)2 + Dy(V)*

Te4 = =
290 4 372(V)? + 5y (V)

(8.124)

(7\2 7\ 4 7\ 6
Tos = L Do+ Do(V)" + Da(V)" + D(V) (8.125)
290 + 372(V)2 4 574 (V)A + Ty (V)6

U Y0,72,7a,--- 00000000 vs0,7s2, Vs4, - - Uva0,742,744,--- DO O0O0O0O000ODOODODODODODOOO
000000000000000000 66(T.s), 0 67(Tes), 0 68(1.) 0000000

22 T T T T T
T, —o—
to ——
20 | stratonovich —— A
Antilto ——
18
16
?
|_
14
12
10
8 1 1 1 1 1
0 0.03 0.06 0.09 0.12 0.15 0.18
F
0 66 Te3

100



2 T T T T T
0 Ty °

lto
stratonovich ——
18 r Anti Ito 1

Te4

8 1 1 1 1 1
0 0.03 0.06 0.09 0.12 0.15 0.18
F
0 67 Ted
20 T T T T T
T, o l
Ito
stratonovich ———
18 Anti lto °

TeS

0 0.03 0.06 0.09 0.12 0.15 0.18
F

0 68 Ted

goboobboobooboobbooboobobooboobboon

101



86 UDDOOODOODOO

0000000000000 00OOo00oDOOo00DoO0O0OooOg Hie O

Hi = COS(Q%(X — 1)) (8.126)

go000oo00ooooooooooobOoOoon
0000000000000 Hyy, OO
27 cos(4(z — 1))

Hipt = —cos —x —

L 4

gobodoobooooboooooooooboooobooooooooooooooooooooboOooon
0o0ooooooooooooooesoooooooooon

(8.127)

-c0s(2*pi*x)-0.25*cos(4*pi*(x-1./6)) ———
15 -0.992694 ——— 1
1.18245

Hint

-1 -0.5 0 0.5 1
X

069 DoOoOoooOOO HyyODzOOOOOOODOOODOOODOOOOOOOODOOOODOOOD
1.182450000-0.992694000000000000000000000000 20000000000

00000000 Hine 0 1ygosa9360; 000000 20000000000

000 MOOO0OODO0ODO000000000002000000000000000000000000
0000000000000 1.182450000-0.99269400000000000000000000000
02000000000000000000 Hiw O 1ygps99m50s 0000000000

0000000000000000000000000000000000000000000000

0700000 FOOoOoo (vyooooooo

102



FVIS<V>I+ 3

1.5 |

05 r

<V>
o
T

_2 1 1 1 1 1 1 1 1 1
-0.25 -0.2 -0.15 -0.1 -0.05 O 0.05 0.1 0.15 0.2 0.25

F

0 70

ocbooooooboooboooobooboboobOOoobOoboooboOoobooobooooOooooo (V}D
0000000000000 000000000D0O0OODOD (??7)000 (515000000000
v,7s,y--- 0 00000000000000000000000000O0O0O0O0O0O0O0O0O0O0O0O0O000O0
ooobooooooooobooooooooo

F=5(V) +n(V?) +7(V?) + (V") + - (8.128)

000000000000000000F0000000000 (V),(V2),(V3),(V4Y,..-00000000
000D0000D0000000000000000000000
400000000000000000000000000000000000000000000(D(V))
0000000000000 000000000000000000000000000000D,,Ds,Ds,--
0000000000000000000000000000
0000050000000000040000000000000000000000000000 130
0oooooo

Yo Y1 Y2 V3 Y4
0.17435 | 0.00237349 | -0.0149076 | -0.000158146 | 0.000842496

Dy Dy Do D3 D,
3.42773 | 0.164792 -0.274563 -0.014657 -0.014657

013 4000000000 V),D(V)OODOOM = 100,m = 1,dt = 001,k = 5L =
1,7 = 1,T = 10,k = 1,7 = 1000, sample O 10000000,F = 0.0 ~ 018 0O O0ODO
(VY (VA (VH (VH, (VA OOODOF(D(V)) 000000000000 000000000

103



oooooooooo
gooooo
1D(V) (8.129)
24(V)
1 Dy + D1V 4 DyV2 + DsV3 4+ DV 4.
5 ’70“1"71‘74—’)/2‘72+’73‘~/3+74‘74+"'

TFDT (V) =

gooooo
T, = M{(V — (V))?) (8.130)

gooao
1 do
2T,
_ 1 Do+ Di(V) 4+ Dy (V)2 + Ds(V)? + Dy (V)* +
290+ 271 (V) + 372(V)2 + dys (V)3 + 5y (V)4 + -
Jooodplot 00000 71000000

Teff =

(8.131)

20

18

16

14

12

10

ooo0oO00000O00oO0O0OoOooOoOoOOOO0OO0OO0O0OO0O0O0O0O0ODDODODOOD dOOoOO0TyOOOoOo
0000000 T, 0000000 7T, 0000000000000 00000 Trpr 000000 TOO
00 FO0OD0OO00O0ODOOOO0ODOOOO

104



9 OO

cooboooooboocoobooooOoooOoOooOoboOoooboOo0ooOoOOoOoOoObCO00ObOOoOoOobOOOOoOoDnn
goboobooboooooboooooobooooobooOooboOooobooooooooooOooooOoDoOboOooboboOooon
gobodoobooooboooooooooboooobooooooooooooooooooooboOooon
gobboooooooooooobboOooobooOooOooOoooOoDoOoOobooOoooooOooon
gobooooooooooooobooooboooobo0ooooooooOooooDbDoooDOoOooDboboOooon
gobboooobooooooooooOooOoOoOOoO0oOobOOoO0OobOOoOoOoboOoOoUoOoOOoOobOOOOoOoDbboOonon
gobboooobooooooooobooooboboooboooooon
0000000000000 0000000000000D000000000000O000OoO 1Jooo
gobooboboooooooooboooooooobooobooOooooooooooooDooa
goboooooooooooobbo0ooooooooooooboooobo0ooboooobooboooooDoboOo
goboooooooooOoOooboOoOobOOoOoOoOoOoOoOoOoDOOoOOobOOoOOooon
goboooooooooooooboooobooooboooooooooOooooDbDooooDoOooDboboooon
oooooMiOO0OO00O0O0O0OOOO0OO0O0OOOOOO0OOOOOO0OOOOOO0OOOOOOODOOOOO
goboobooboooooboooooobooooobooOoobooooboooooooooobOooooDOboOooboboOooon
gobooooood
0000o0o0ooooooode0oOoooooooooooooooooooooonoon

105



goon

1]

Taiki Haga Nonequilibrium Langevin equation and effective temperature for particle interacting
with spatially extended environment arXiv:1311.7464

A Einstein OO0000000CO00000O0O0OOCOO00O0O0ODODOOOOO0OO0O Annalen der Physik
(Germany)17, 549-560 (1905)

H. Nyquist, Thermal Agitation of Electric Charge in Conductors, Phys. Rev. 32, 110 (1928).

Lars Onsager, ” Reciprocal Relations in Irreversibel Processes.1.”, Physical Review 37 (1931) pp. 405
- 426. Received December 8, 1930.

0000 2011 000000000D00DO0O0O

gtdddd oooooooooobooobon

ogood AdS/CFTDDDDDDDDDDDDDDDDDDD

0000000000000 00DO0O00D0O00000DO0ODO00D00UOUODODO0OD (DoOooO)
http://hdl.handle.net/2433/97827

0000 000000 http://www.ss.scphys.kyoto-u.ac.jp/person/yonezawa/index.html
g oooobobbbobbbbobobooooa

gnuplot 00 000 http://www.gnuplot-cmd.com /axis/tics.html
goooooboobooooboooo

EMAN 000 OO http://homepage2.nifty.com/eman/

goboboooboobo-oobboooboo-o
goboooobbooobbb oo boogbbooooob bbb uooooobooo
O (2014)

0000000000000 0000000000D0O000D0OO0DODOOoDOoOOO (2013)

Kim taeyeob 000 0000000000000 O0O0OOO0O March 8h 2013

MAkasaka’s HomePage http://www.makasaka.net/physics/ohm/ohm.html
godddoooooooooooobobbobobbobbooog
goboooobooboooboboooboo

William H. press,Saul A. Teukolsky, Wlliam T. Vetterling, Brian P. Flannery 0; 00000000
0000000 ugggd; Numerical Recipesin CO 00000

Alan Fersht 0; 0 0000000000000 ODOOOOO;0000000O0O0OOOOOOO
gooododgdddgdddddd JUUddUdU0 U oUoOog o
[ENRN

0000000000000 0000000 LangevinOOOOODOOOODOOOODO 2007.2.9

R. Zwanzig, Nonequilibrium Statistical Mechanics, Oxford University Press, New York, 2001.

Lisa Borland Microscopic dynamics of the nonlinear Fokker-Planck equation: A phenomenological
model PHYSICAL REVIEW E VOLUME 57 NUMBER 6 JUNE 1998

Bouchaud, J.-P., Georges, A.: Anomalous diffusion in disordered media: Statistical mechanisms,
models and physical applications, Phys. Rep. 195, 127 (1990)

Berthier, L., Barrat, J.-L., Kurchan, J.: A two-time-scale, two-temperature scenario for nonlinear

106



rheology, Phys. Rev. E 61, 5464 (2000)

[29] Joly, L., Merabia, S., Barrat, J.-L.: Effective temperatures of a heated Brownian particle, Europhys.
Lett. 94, 50007 (2011)

[30] G. Falasco M. V. Gnann D. Rings and K. Kroy Effective temperatures of hot Brownian motion
PHYSICAL REVIEW E 90, 032131 (2014)

[31] O. V. Yushchenko and A. Yu. Badalyan Statistical description of the collective motion of nanopar-
ticles PHYSICAL REVIEW E 85, 051127 (2012)

[32] D. Chakraborty, M. V. Gnann, D. Rings, J. Glaser, F. Otto, F. Cichos and K. Kroy Generalised
Einstein relation for hot Brownian motion EPL, 96 (2011) 60009

[33] A. Fulinski How to generate and measure anomalous weakly non-ergodic Brownian motion in simple
systems arXiv:1206.4594

107



